1. 20118 & LB & 248 SEIAH(SIIYEE) BMEE=2
0 Ol &t o 1,226,627,273,480& (ME = 023 81,227,273,480% £ &) 0ll CHSHA
F=HA2 1,134,604,615,988& 0] I
ANEH=2 920,023,849,399& 0| 4
0 O Xtl&toRz 214,580,766,589F 2 A XY MEYE HMbE2ExS AU 2AH JIEMP a0 AF=Z et o
b= 0,0l Xt 0O&)S ZSH&t 214,580,766,589& 2 2| HE=Z UISHE=
2r2f ol gsetth
0 sk OIEY Sol=
HAIOIE 46,644,924,4108 (I3 Sl= FA0I2 N 0&)
A0S 6,314,397,650& (X3 8l= AtLDOIE N 0&)
H 8101 81,214,841,980% (X3 Sl= HI=HIOIE N 389,964,000&)
(2 - ZH)EX3 &N 7,374,425,6343 0] 2L UM 0|2 SBHet =AAHLH=2 73,032,176,915& O| Ct.
2. 20118 & LBt H =
0 Ol &te o 844,631,089,910&(HE = 0|23 32,631,089,910& &) 0l CHGHN
A2 870,187,860,265& 0| 12
ANEH2 752,532,822,407& 0l
0 1 Xtel&tH= 117,655,037,858E 2 Al AL MEE M52 #EU 21 H LEteH A2 JIEMFE0 AtS st o
b= O&, OlX OR)= SHE IHE dHS BN 117,655,037,8583 2 2| HEZ US AL
2r2f olgetth
0 sk OIEN Sol=
A0 40,396,311,630% (Xt= = A0 0&)
AD0| & 6,248,321,110& (A= = AHD0I SN 0&)
H 8101 16,115,029,470& (X3 8l= H=HIOIE N 0&)
(2 - ZTH)EX3 &N 4,295,668,038F 0] EZE N UALH 0= SHe =NMAHLH==2 50,599,707,610& 0| Ct.



3. 2011H S BIILYSLSAHE RS 1204 SL3H 0l st
o BRANNES
0 0fl arat o 381,996,183,570% (M H S 0123 48,596,183,570% L&) 0l Th 5+04
sone 264,416,755,723%0/ 2
WEETES 167,491,026,992 0/ O
01 RoITAE 96,925,728, 73122 N XL I M52E2 RO 1 BIASESHAR I ZHLSAS 0 ASS
(23 0%, 0l 0%)S THE SHE LIS B 96,925,728,73122 EH B2 LS T 0
242t 0| Y BHLH.
0 IS T 0l Zols
=PI 6,248,612,780% (X3 8= HAIOI2 Y 02!)
A0 66,076,540& (X3 Sl= AP0 H 0&)
H =402 65,099,812,510% (X3 Sl= HI=HIOI 3N 389,964,000 )
2XZ YYT 3.078,757,596%01 EBE 0] U0 0|2 BHIS =M HLIS2 22,432,469,305% 0| Ct.
Lt BIIYSESIAE MAS JIESBa N S2E
0 0fl arat o 138,151,599,3708 (A 0123 15,751,599,3702 &) 0fl CTH 5104
sutone 56,052,878,749% 0| 2
WEETES 34,978,187,097 2 0! G
01 RoITAE 21,074,691,6522 22 N XL MIE H52X RO O JIEISESH AR I ZHLA SO AS S 0%
(23 0%, OIX 0%)2 THE 31 L0IZ B 21,074,691,6522 2 S L2 CHS 0
2t2t 0| Y BHCH.
0 IS oIE Olg Y Zols
% AlOI 2 321,959,0008 (X3 8= BAIOIH Y 02)
AF 0|2 0% (X2 2= Aol 02)
21012 38,109,348,0108 (X2 gi= H=Hl0l2 02)
(= EH)ExZ Fao 110,571,2502101 Z&E0f A0 012 BHE =AAHL 02 ~17,467,186,608 20/ Ct,
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635,000,000& (8 EF & OIE = 200,000,000 & Z &) 0ll CHSH
439,077,445& 0| 1)

11,878,280& 0| H

427,199,1653 =2 A XA THE Y M52 HEU 2AH JIIESHR 0 AtS et
0&, OlXt OF)S SHe I AHE AHSZN
0% (A3 8l= GAIOIE N )
0% (A= 8l= ALDOIE )
0% (A3 8l= HAHI0lE N 0&)
00l EZEEHN /U2 0l SHe =MAHLH==2
9,135,000,000& (8 EF & O1E = 60,000,000& Z&)0ll CHSH ™
9,577,839,523& 0] )
7,996,366,610& 0|
1,681,472, 913322 A NETHEY HMb2xE2 H&EU 2N ISP &S0 ALS &t
o0&, OlA OR)S SHE HE dAHSEN
0% (A= 8l= BAIOIE N )
0% (A= 8l= AtO0IE N )
0% (A2 8l= H=HI0lE 0&)
00 EZEEN /UA2H 0I5 SHet =MAHLH==2
2)
4,450,000,000&(8EH & OIE = O3 L0l CHotod

4,418,973,827& 0] 11
4,278,302,480& 0l 4
140,671,347 =2 AN XA HEHE M52
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EX3 I & 020l TS0 ASH 0IE 2HE =HAHLH22 3,581,282,339& 0| C}.
AT THAIY SEIHE=E(2)
Ofl AF 34 o4 95,354,634,0702 (ME S 0|22 15,354,634,070= Z &) 0ll CH 504
FHM2 28,531,382,0572 0| 1
NEH2 20,911,992,74724 0| 04
1 XtelZte 7,619,389,310R 22 Al XILMHEY M52X2 FEO 2AH JIIEHRAES0 AL 0
(2 0, OlXt 02)S ZHE IHE Y2 SN 7,619,389,310R2 3 HLE 2 LISAHZO
2+2¢ 0| € 8tCt.
OSeHZ 012N =oll=

HAIO| & 02 (X2 gl BAOIEH )

AtD 0|2 02 (X3 gl AtDoIg )

H=H ol 32,262,006,6102 (A= 2= H=HIO|S N 0)

EX=2 D xH OR0] ZEEZ0 USH 012 ZHE =MAHAMZ S A24,642,617,3002 0| Ct.
SARESYZCIAIY SEIIHE(2)
Off AF 34 o4 1,240,000,000 (MEE 0| 2 ORAE S0l CHotof
SM2 1,210,531,077 0/ 1
INELLES 68,540,000 0| 04
1 Xtel&tone 1,141,991,0772 22 A X LMHAEH M52X2 REU AN IEIHPAE0 A5 0
= 0, OlXt 02)S Z2HE 3 HE Y2 ENH 1,141,991,07722 3| HE2 (1S Z 0
2+2t 0| € 8tHCF.
ST 0|E Sol=

HAIO| & 02 (X2 gl HAIO|HH 0e)

At OIS 0& (X2 gleE AlDoIE 0&)

H=H 0l 02 (X2 8le HisHIOIg 0e)

2X3 o 020l ZESTO ASH 0IE Z2HE =HHLYH22 1,141,991,077 0| Ct.
HEoANY S HE(2)
Ofl A S oM 6,200,000,000& (M H T 0|2 02 &) 0il CHotod
SgHS 6,399,699,168& 0| 1



XNEU2 263,358,600 0| 04
0 1 Xtel&toe 6,136,340,5682C2 N KIYUMMA Y H52X2 RAEN AN IEHRAES AtE 0
(22 0, Ol X 02)S BHE 3lHE do=5H 6,136,340,568¥2 3 HE2 (HSAH 0
2t2t 0| 2 BHCH
0 OISHE 012 =0l=
H A0 02 (X3 gls FAlOIENH 0%)
AFD Ol 2 02 (X3 gls Atnojao 0)
HZ=Hl0l 2 5,847,341,4009 (Xt3 ole H=HIOl 2 0)
2X3 YA 020 ZET USH 012 ZHE =NHANZ2 2 288,999,168 0| Ct.
[ TADHEAIY SE3H=E(2)
0 Off AFS oM 02(MEZ 0|2 02 Z &)l THatod
oo 1,674,1702 0| D
XNEU2 020l 04
0 1 XtoltoHe 1,674,170 02 A NISTHEH M52F2 FHO 2N I EHP A0 AF2Et 0
(22 0=, Ol X 02)S ZHE slHE A== 1,674,17022 3l HE 2 TS =0
2t2F 0| R BHCH
0 ISHZ Ol =0ls
H A0 02 (X3 gls gAlOEY 0%)
AtD Ol 0& (X2 gle AtDoIg 0&)
HZ=Hl0l 2 02 (X3 gl HisHolaY 0%)
2R3 THEH 020 ZET0 USH 012 BHE =HHLNW=2 1,674,170 0| Ct.
HEL3HE JIGIHSSLAN Oeh & ZAS 6t UM (EH), M BILSEIHS 82 =X EAlGHH TS 20
(el &)
0l 2 o
s I o 0fl At &1 o i = s x =
=5 =G A Al O] 2 AtDOl 2 H =102 ) 5 Xt oH THIASE 0=
Hl 243,844 ,584,200 208,363,876,974 132,512,839,895 75,851,037,079 5,926,6583,780 66,076,540 26,990, 464,500 2,968, 186,346 39,899,655,913
A& s g 3 A 89,071,609,570 90,603,230, 255 59,743,794 ,688 30,859,435,567 715,110,000 12,435,076,920 17,709,248,647
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72,033,000,000

42,938,568, 638

Jm

SHS MYAN=

=

2aee

S& 0 L.

=2 O



